@x(x—fi) @ (
@ (x-4)(x+2)

® x(x-4)

x-2=1% A&
P -2t-8=(t+2)(r—4)

x(x—6)




x? —y? 4+ 8x 4 4y + 12

O (x+y+3)(x-y+4) @ (x+y+4)(x-y+3)
® (x+y+2)(x+y+6) @ (x+y-2)(x-y-6)
@(x+y+2)(x—y+6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)




: A uff, x2 + 3xy + y? o] 27

@ 3 @6 @9 @ 12 ® 15

1 V2-1
TVl (Rrn(V2-1) v2-1
1 V2+1
ey SRk e mryev R A
x% 4 3xy +y% = (x +v)% + xy ol A
x+y=(V2-1)+(V2+1)=2+2
w=(V2-1)(V2+1) =1
LEA) =+ Py =(2V2)2+1=9




4.

O0<x<l1l, —2<y<-14¢0, 4

V)2 + V/(x+y)2 —dxy — /(x—y)? + 4xy

® -xy (@)2x—xy
@ 2y - xy ® x-xy

® 2x+ xy

V(x+y)2—dxy = /x2 = 2xy+y?
= V(x-y)?
\/(x—y)2—|—4xy: \/xQ—l—Qxy—I—y2
- JErypelne
(FA1) = oyl + be =yl = e+
=—Xxy+x-—-y+x+y
= 2x—xy




HO| Aol7} 2+t xem , yem 9 FAMZEE RoFol A 7}
glek. o] & 7h=9] E49] Aol 9] 27} 24em o] 2 Hel )
0Ocm? & o, F 7FE9] E2)¢] Ao]9] -2 FoH?

® 6cm @ 25cm ® 50cm

@®)100 cm ® 150cm

dx —4y =240|B2 x—y=6

x* —y? = 150°| B2 (x +y)(x ~y) = 150
x+y=25

SoA4x +4y =100




